Lesson 2: Economic Decision Making




Name:

Why can’t you always get what you want?



Date:


Hr:

Section 2

1. Write a definition for each of these terms: wants, goods, services, scarcity, shortage. 

	Wants


	

	Goods


	

	Services


	

	Scarcity


	

	Shortage


	


2. Why is what we want scarce?

3. List three goods that you see in your classroom and two services that exist in your school. Explain why these goods and services are scarce.

Section 3:

1. Write a definition for each of these terms: land resources, labor resources, human capital, capital resources, entrepreneurship.

	Land resources


	

	Labor resources


	

	Human capital


	

	Capital resources


	

	Entrepreneurship


	


2. Gary Becker, winner of the Nobel Prize, says that “human capital is by far the most important form of capital in creating wealth and growth.” Why does he say this?

3. What are three roles that entrepreneurs perform in the production process?

4. Create a flowchart, with simple illustrations highlighting some of the factors of production that go into creating a good such as a pencil or a car.
Section 4: 

1. Write a definition for each of these terms: utility, opportunity cost, diminishing marginal utility.

	Utility


	

	Opportunity cost


	

	Diminishing marginal utility


	


2. Identify one decision that you made in the Preview (for example, to attend the football game). List all the tradeoffs of that decision. In your list, circle your opportunity cost of that decision. Then explain why this is your opportunity cost.

3. Using the decision matrix in Section 4, make a decision about where you would buy the video game. List the tradeoffs of that decision, as well as the opportunity cost.

4. Describe or draw an example of a time in your life when you encountered diminishing marginal utility.

Section 5: 

1. Why do economists use the production possibilities frontier (PPF)?
2. Copy the table of data and PPF below. Plot Points A to E on your graph and connect them.
3. Answer these questions.

a. What is the opportunity cost of increasing wheat production by 200 pounds by moving production from Point B to Point C?

b. What is the opportunity cost of increasing wheat production by 200 pounds by moving production from Point C to Point D?

c. Why might the opportunity cost vary so greatly?

d. Plot Point F at 800 pounds of wheat and 800 computer chips. How could this economy move production to Point F?

